1F =P

E ==

=M 4% 48 1B, 55 54 3AIBAET

(B2 F)
4 = LEE AIEE & B
I —ARIEBRRAEIE R D ER
1. BEEREOE
(1) FEEIREE

EXUEERASE 100 500 -400
EXMEZIFIR 100 500 -400
HEEEERLS 42 43 -1
BHEEEZIFIR 42 43 -1
SREE 4, 443, 000 4,383, 000 60, 000
NEF-L-3:E3 4 4,242, 000 4, 206, 000 36, 000
EOREZNRE 201, 000 177,000 24, 000
BRI 47, 000 43, 000 4,000
HHEE U 0 0 0
e E X R 30, 000 30, 000 0
SEHEEENE 0 0 0
BEFEE XN 17,000 13, 000 4,000
ZHHR 0 0 0
FEBE 17,000 13,000 4,000
BB RS 0 0 0
SREBEFE 6, 445, 153 6, 437, 731 1,422
SR EHNE 294, 953 263, 731 31,222
SREEEMKE 405, 000 378, 000 217, 000
SWMEEEMAEIREEE 5,745, 200 5,796, 000 -50, 800
SZWMAEE 365, 000 385, 000 -20, 000
ZRAEE 0 32,000 -32, 000
BE - e ZMAES 365, 000 353, 000 12,000
ZHEEHE 218, 000 212, 000 6, 000
TFEHE 147,000 141, 000 6, 000
SWMHFNE 0 0 0
SHETR 0 0 0
U TR 387, 548 550, 091 -162, 543
ZHF R 100 91 9
HEANLE 387, 448 550, 000 -162, 552
BEANEET 11, 687, 843 11, 799, 365 -111,522
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2) BRER
BXE 9,414,771 9,203, 890 210, 887
aHFY 3, 645, 226 3,473,710 171, 456
BB 1 & A 267,933 267,934 -1
BHELER 476, 410 516, 377 -39, 967
EHRERE 58, 045 58, 045 0
E-3 802, 7142 516, 198 286, 544
REXBE 281, 940 401, 357 =119, 417
BIEERE 411,060 546, 810 =15, 750
HEMARERE 0 0 0
HEMRE 193, 294 1,747, 324 -954, 030
FNRI S A& 994, 601 459, 231 535, 370
FEUKHE 112,032 106, 864 5,168
BiEH 321, 480 321, 480 0
REx# 0 0 0
E-E ik 220, 420 55, 337 165, 083
ik S 0 536 -536
B-X/N=Eick 235, 000 16, 000 159, 000
XILFHE 10, 000 0 10, 000
EitE 118, 800 118, 800 0
RI5E 304, 760 275, 270 29, 490
) —2R$ 205, 851 187,914 17,937
EEMEER 53, 580 53, 580 0
XILFEH 41, 603 21,063 20, 540
BHE 2,416, 627 1,854,529 562, 098
BHFEY 436, 714 416, 230 20, 544
BRI+ & A 32, 104 32, 104 0
BFELER 57,083 61,812 -4, 789
EHERR 6, 955 6, 955 0
REE 913, 040 673, 7121 239, 319
REXEE 276,776 18, 504 198, 272
BSERE 80,973 72,184 8, 789
HEASRERE 0 0 0
HEMAR 65, 434 37, 981 21,453
NS A E 116, 820 102, 905 13,915
FBOKHE 13, 424 12, 804 620
BfEH 38, 520 38, 520 0




e B LEE R 18R
RIGE 0 217,000 =21, 000
#HeE 100, 200 99, 300 900
HERAR 0 64 -64
E2N=Fizk 36, 500 36, 500 0
XHFMNE 5,000 5, 000 0
Rit& 53, 863 53, 863 0
SNERE 21,000 37, 000 -16, 000
RER 117, 400 25, 000 92, 400
1) —X % 24, 664 22,515 2,149
EHEMEER 6. 420 6, 420 0
X F R 13,677 8,087 5,590
REERE 11,831,404 11,058,419 172, 985
STl $8 2% % R B Al L IR E AR -143, 561 740, 946 -884, 507
ATl 8 f & 0 0 0
LR E AR -143, 561 740, 946 -884, 507
2. EENMERDOE

(1) BESUNE
RESMAEE 0 0 0

(2) BENER
RESNERE 0 0 0
LAREESMEBER 0 0 0
LR — AR IERRRAEELRIRIER -143, 561 740, 946 -884, 507
—RIERMEMEES 14,750, 249 14,009, 303 140, 946
— MR IERRM R RE S 14, 606, 688 14,750, 249 -143, 561

15 7E IERRRA EE LD BT

ZMHEBEF 5, 745, 200 5, 796, 000 -50, 800
ZIMERENHE 5,745, 200 5, 796, 000 =50, 800
—HRIERRME~NDIREEE -5, 745,200 -5, 796, 000 50, 800
—RIERRAE~DIREE -5, 745,200| -5, 796, 000 50, 800
L5 B IERR A EE IS IRIER 0 0 0
EEIERMERTRS 0 0 0
HEERMEMRES 0 0 0
IERREA R KRS 14, 606, 688 14, 750, 249 -143, 561




